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ES-361 : EDUCATIONAL TECHNOLOGY 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All four questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 

What is system approach in Educational 
Technology ? Discuss the steps of system 
approach in managing ET. 

OR 

Discuss in detail the importance of 
telecommunications and networks in Education. 

2. Answer the following question in about 
600 words : 

Describe the major modes of computer Assisted 
Learning (AL). 

OR 

What are the strengths and weaknesses of Audio 
and video media ? Discuss with examples how 
audio and video programmes can be effectively 
utilized in the instructional process ? 

BACHELOR OF EDUCATION 

Term-End Examination 

June, 2017 

ES-361 
	

1 	 P.T.O. 



	

3. 	Answer any four of the following questions in 
about 150 words each : 
(a) Discuss the stages of experiential learning. 
(b) 'Educational technology is an area of 

interdisciplinary study.' Explain. 
(c) Discuss the important guidelines to be 

followed while developing audio scripts. 
(d) Explain various uses of internet in open and 

distance learning system. 
(e) What is tele conferencing ? Discuss the 

merits and demerits of audio and video 
conferencing. 

(f) Explain the Context Input Process Product 
(CIPP) model of evaluating educational 
technology. 

	

4. 	Answer the following question in about 
600 words : 
As a secondary school teacher how you will use 
educational technology in classroom to develop 
thinking skill among your learners ? Discuss by 
giving three examples from your teaching subject. 
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